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The angle of elevation of the top of
a tower from the top of a building
whose height is 680 m is 45° and
the angle of elevation of the top of
same tower from the foot of the
same building is 60°. What is the
height (in m) of the tower?
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340(3 +/3) (b) 310(3 - /3)
/ (c) 310(3 ++/3) (d) 340(3 - /3)



Find the coordinates of the points

where the graph 57x - 19y = 399
cuts the coordinate axes.

9 figall & fAcwie s & 8 9%
57x - 19y = 399 fAdwi® & ot
Prear B |

(a) x-axis at(-7, 0) and y-axis at (O,
-21)

(b) x-axis at(-7, 0) and y-axis at (O,
21)

l//x—axis at (7, 0) and y-axis at (0, -
21)

(d) x-axis at (7, 0) and y-axis at (O,
21)



For what value of m will the
system of equations 17x + my +
102 = 0 and 23x + 299y + 138 = 0

have infinite number of solutions?
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How many numbers are there from
400 to 700 in which the digit 6
occurs exactly twice?
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When the price of a commodity
increased by 23%, a family reduced
its consumption in such a way that
the expenditure on it was only 5%
more. By what percentage has the
family reduced the consumption of
the commodity (correct to onmne
decimal place)?
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(a) 14.2%  (b) 15.2%

() 15.8%  (9114.6%



I sec9+tan9 5 0° < 8 < 90°,

o “{ secO—tan® 3

then what is the value of (cosec9 +
cosO +cot0)?

secO + tanB 5

secO —tan® 3’
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, 0° < 8< 90°,




2 2
COS“X -sec’x
If 2 - = a + bcos2x, then
tan“x
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tan“x
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Simplify the following equation.
What is the dlfference between the

twg

7}:+4{xz+[5x+10]}-3‘5%-xa+[332+ =0
ORI HHIBNUT DI Rl DIFIY | x
a?a’rm‘ra%é’mww%?

Tx + 44’ +|5x+10l=-3{5§ 2 +(3% +x| =0

(a) 8 (b) 16

(c) 5 A 17
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Find the remainder when we divide
3x%-2x2+4x-1by2x-1.

Vd B9 3x4-2x2 +4x -1 Bl 2x - 1
9 fonfog oxa € @ I o
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(a) 2 (b) 3

. 11/16 (d) 15/16
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In AABC and A DEF, /A= 55°, AB
= DE, AC = DF, ZE= 85° and /F =
40°. By which property are A ABC
and A DEF congruent?

A ABC 3R ADEF # /A= 55°, AB =
DE, AC = DF, /E= 85° 3R /F =
40° 2| f&9 T ¥ A ABC 3R
A DEF 9ai=TdH 87

\),@ysns/pmperty
(b) ASA property

(c) RHS property
(d) SSS property



There are two circles which touch
each other externally. The radius
of the first circle with centre O is
17 cm and radius of the second
circle with centre A is 7 cm. BC is
a direct common tangent to these
two circles, where B and C are
points on the circles with centres
O and A, respectively. The length
of BC is:

ﬁ%ﬁg%‘l BC 3 &d1g 2
(a) 24118 cm \%legcm

(c) 2113 cm (d) 24117



For what value of m will the
system of equations 18x - 72y + 13
=0and 7x - my - 1A = 0 JAave no

solution?\/

m$mqﬁ$mwﬂmwmx-
72y + 13=03R 7x -my - 17 = 0
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The median of a set of 11 distinct
observations is 73.2. If each of the
largest S observations of the set is

increased by 3, then the median of
the new set:

11 =1 v&oi @& Y=g @1 AIfegHT
73.2 3| A W= & 5 HEW T
N H W U H 3 B g B WY,
dl Y FYeg D HIfegST:

(a) is 3 times that of the original

c set

(b) is increased by 3

\/{;])e‘mains the same as that of the
riginal set

(d) is decreased by 3



If one of the intefjor angles of a
regular polygon is 15/16 times of
one of the interior angles of a
regular decagon, then find the
number \of diagonals of the

polygon.
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There are three taps of diameter 2
cm, 3 cm and 4 cm, respectively.
The ratio of the water flowing
through them is equal to the ratio
of the square of their diameters.
The biggest tap can fill an empty
tank alone in 81 min. If all the
taps are opened simultaneously,
then how long will the tank take
(in min) to be filled?

9 Tt HE 2 |9, 3 9 3R 4 |9
A b B SIH W ¥89 qrd ol Pl
AT ST AN @ T P U D
e 8| GaA TS1 1 Dol Tl Bl
81 e # W wear g afe i ar

P TP 9 @i far |, af @ @l
T~ # feaar @+5e #) 99y a@m?
20 20
[3134—2—9 [b}64£
(';:)54E )4420

29 o= 29



Find the mode for the given
distribution (rounded off to two
decimal places).

Class 5-10 10-15 15-

Interval

Frequency 8 7 6

Ry T fgew @ sgas
a%a"rwﬁawquﬁﬁrcraﬁf)jo ,‘f,

f_5-10 10-15 15-20 20-25
Modal, Aoy 25-30 30 - 35
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In APQR, PQ = QR and O is an
P interior point of A PQR such that

/OPR=/Z0RP . Consider the
following statements:

A_/ffr APOR is an isosceles triangle.
/«(ii] O is the centroid of APQR.

‘)jji-rﬂ PQO is congruent to ARQO.
Which of the above statements are
correct?

APQR # PQ = QR 3R O, APQR
& U IyaRe fdig &8 o &
/OPR = /ORP | fA=fafaa @i w®
faR &9

(/U_' (a) Only (i) and (i) (i) APOR U&% wfgarg Bt 2|
/__,a’“u"h:‘ L)Jprt‘fnlg,v (i) and (iii) (i) O, APQR & 3= 8|
(c) Only (ii) and (iii) (iii) APQO, ARQO & HalIH % |

(d) Only (ii) SR ¥ ¥ PN GT HAF Tl 87




The base of a right prism is an
equilateal triangle whose side is 10
cm. If the height of this prism is

10\/5 cm, then what is the total
surface area of prism?

Uh GHHIVT IS &1 MR wHarg Ao
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(a) 12543 cm? (b)325V3 cm?2

(c) 150/3 cm? MSO\E cm?
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How many numbers are there
between 200 and 400 that are

divisible by both 6 and 5?
200 3R 400 & €19 9 A fHa

g § o 6 3R 5 2 ¥ ey £
(a) 9 (b) 6
(d) 8



If x* + y* + x2y2 = 21 and x2 + y2 -
xy = 7, then what is the value of

L3

2 2

& Y

IS x4 + y* + x2%y2 = 21 3N x2 + y2 -

xy =7, =+ 1 &0 qw ¥

X"y
(a) 5/2 (b) 3/2
(c) 3/4 _dr5/4
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The income of X is 42% more than
that of Y and the income of Z is
45% less than the sum of the
incomes of X and Y. By what per
Z_ cent is the income of Z less than
the income of X (correct to one

SS'.‘-':F ‘_‘.:;1 ] decimal place)?

133" X & A, Y DI A 42% IR 2
3R Z B A, X R Y & ™ & AT
7 W 45% P2 Z B I, X I I A
fa ufowrg 9 2 (e & 3a
3 v ) R
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The cost price of articles X and Y
is the same. Article X is sold at
20% profit and article Y is sold for
Rs. 126 less than the selling price
of X. If the net profit by selling
both the articles is 14%, then what
is the cost price (in Rs) of each
article?
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